§1.1

% S=c(x - %) ( )

y:Xklk:112131L ’ X,'¥<X<+¥

y y=x )/ y=%
y=x
0 X
0 X




y=x* k=123L , y

X1 R xI X
-x1 X
y=f(x) X xT X,
f(x)=f(-x),
y=x*" k=123L , (0,0)
y=f(x) X xT X,
f-x)=-1(x),
y | y=2x y
y:
0 X
y:2x x=0 X
X2 y:XZ
, X , ,
2% , ( ),
y=ax"+a X"'+..+ax+a,
(a,* 0) y
y=a2x2+a a,
y=ax +ax+a, (a,'0)
n \_
0 X

X, F(%)=0



29y

= , Q(x P(X) Q(x
Y= 69 (¥ Q)
y=_X_
(x- 1°
7500
5000
2500
0.5 | 175 2
- 2500
-5000
- 7500
Mathematica Maple
Mathematica

Plot[y=x"2/(x-1)"3,{x, 0,2},PlotRange->{-7500,7500}]
Shift Enter N

y=x*,0<x<+¥ ,a1l0 a=1,2,3,....
alo
7 2
V2 1,1.4,
1.41, 1.414,... p 3, 3.1, 3.14, 3.141,... 1°, 14,

141, 1.4143*

2

— v w2 vr
y=X,X",X,X



y
y=X
y=X
y=xt2
y=x*
0 X
0
a>0 y=x [0,+¥) a>1 (
) O<acx<l a<o0 y=x* [0,+¥)
y=a* (a>0, atl).
y
= (a<l =aX
y=a (asl) | y=a (@A) a>l  (-¥4¥)
a<l (- ¥ ,+¥)
X
e=271828..., y=
y=log,x, y=a"
y=log,x, x=a’ y =log, X y=a"
180°

log,, X =g x

log, x=In X



y- / y=ion.x(e>3)

/i x

y=log,x(a<l
y =d9n X - ¥ <X<+¥
Yy = COs X - ¥ <X<+¥
y =tgx xt k+ip

y =clgx (x* kp)

/\ /\ y =4dn X 2p

N A / y=cosx 2p

AU
Crr

y =tgx Y

L
I

y=f(x) (- ¥,+¥) >0 "XT (- ¥,4¥),




fx+)=f(x)  f(x) | f(x) i

e-e
X y=sh(x) = >

/H_)( y=th(y =D _€- e

ch(x) e +e”

ch?(x)- sh*(x) =1 cos’ x+dn?x =1
ch?(x) +sh?(x) =ch(2x) cos’ x- 9n? x =cos(2x)
sh(2x) = 2sh(x)ch(x) sn(2x) = 29n X:CoS X
X =ch(x), Y =sh(x), X2-Yy2=1
Poincaré o
y = sh''x
y =ch 'x



y? =4x°- g,X- g,

D=q,’-27¢,10 , y =44 - gx- g,
y=-4x - gx- g y =4 - g g,

2=4x- q,X- q,

Fermat
§1.2
X XIi R X
Xi R f X xT X
yl R f X R f:X® R

f X y=f(x) X f X y

f f(x)

(X, ),

FOX) ={f(x):xI X}i R



R? E={(x f(x):x] X} f (X)

y = x|
Y1 y=Ix

y=[4, [¥

[-3.5]=-4

[3.-51=3, [3]=3,
0f x-[x]<1

[X] £ x<[x]+1,

f(x) = x- [X]
4
i O£XE800
% > 800 < X£1300
! B 130<xe2800
igi 2800 < X£5800

: ,
) 254150 +(x- 2800
1 ( ) 00

5 Dirichlet



N

i 1 X
y=D(><)=%'0 «
Q P
Q= f(P) P
P=P@Q)
C=C(x)=ax+b
a X C(x) X
coy =™
R=p:x=p(x):x X p=p(x)
L(x) = R(X)- C(X)
f:X® R, M >0, xI X, [f(X[EM
f(x) X
y=dnx y=cosx, y=D(X) y=x*> X=[-22]
(- ¥ ,+¥)
$
f:X® R $M >0, "xI X, [f(EM
f:X® R "n=123L ,%x,1 X, |f(x,)|>n

f0=2 [ 1]
X

X [a, b] (a, b) (a,b] [a, b)

~

(-¥,a] [a+¥) (-¥,+¥) , f:X® R "X X% X,



<X, F)ET(), fx) X

£ 3 f(x) X
£ 3 < > f(x) X
y=x" y=[d (¥, +¥)
f:X® R $M,m "xI X,
mE f(x)£M
f:X® R $M> "xI X |[f(X)|EM

“MEF(YEM, m=-M, M=M

$M,m "xI X, mEf(X)EM M, =max(| M |+1|m])
| f(X) [EM, $ M,>0 "xI X, |f(XEM, f:X® R
Al X, f:X® R j:A® R j=1(), "xI A, | f

A fl, f J X

A

§1.3

fF)+a(x) (-9, f(x):9(x)

T

=0
9% g(x)

10



11

xtx P f(x)?! f(x)

y=f(x) u=g(x)
y= f(g() f g
fog(x) = f(g(x)
‘0" fog=gof
f o(goh) = (f og)oh flof,oof
y="f(x), z=y*, z=(f(x)*
2
f:X®R "X %1 X,
C f)=f0)P x=%) f X 1-1
f:X®Y Y=f(X) f
f: X®Y 1-1 f 1-1
f:X®R 11 y = f(X) y X
yly y=f( X
f:X®Y 1-1 "ylY, y=1(x)
y=1(x) x=17(y)
f:X®Y
fhY® X
flof=1:X® X (
fof'=1:Y®Y ( )
(fFYl=f:X®Y

f:X®Y

1-1



y =f'(x, y=f(x)

1-1

(’/'
0 0
1-1
I X, 0f x<1
f(X) =]
13- X% 1£ x£2
1. f:X®Y X Y 1-1
f()=y x=f(y)
2 X y y=f(x)
X e—X
y=sh(x) = R® R
y y=2_81 =
2
2zy =7%-1
z°-2zy-1=0

12

ylyY



x=In(y+4y*+1)  y=In(x+x*+1)=sh"(x)

y = f(x) X Y
a(y) a(f(x) = x, a(y) = f(y)
y = f(X) 1-1
a(y) = f(y)
y = f(X) f(x) X Y 1-1

1T X f(x)=f(%)
9(f () =%
9(f (%)) =%,
Px=x f:X®Y 11
gy)=f*y) " yly $ xIX y=1f(x)
x=f7(y) g(y)=g(f(x)=xP g(y)=f7(y)
f:R®R f(f(x) $| f(x) $

x = f[F(x)] FO)=fof[f(X)]  f(x)

f(x)=x" f (x) X"
x=f(X) x=f(X)=f(fX) X fof
X=X
AB,C,L X, Y, 2,L X A
xT A
N={1,2,3L}

Z={L,-2,-1,0,1,2,L}

13



_ip. s U
Q=i=:pql Z,qt Oy
iq b

C ={x+iy:x yl R,i=+-1
{2 }

{xI R|x?-5x+4=0  {xI R:x*-5x+4=0}

Al B "xI Ap xI B A

B A B
A=B:Al B Bi A

Al B

Al B $bl B, bl A

@ L @

AUB={x:x1 A xI B}

Al B={x:xT A xI B A-B={xl Axl B}

Al W A°=W- A

X Y

f "xI X
yi Y y= f(x) f:X®Y X Y
fOX)1 Y
"X, %1 X xtx, b of(x)?t f(x,) f o1-1 f(X)=Y f
f 1-1 f 1-1
X, Y U f:X®Y 1-1
1.1 awx=S"" y-te"

1 ch®x- sh?x=1

ch(xx y) = chxchy * shxshy

14



3

sh(x £ y) = shxchy * chxshy 4

1.2 f(X)=2x*>+2x- 4

ch?x + sh?x = ch2x..

f@Q f(f@) ) [f(° f(-x%)

f (a+h) f(a)+ (o).
_X+2

13 f="—

1 f@O f(f@) FEED)

2 f(/2)

3 | £2(x)- 2|<|X*- 2] "Xx>0 (x!42).
1.4 f(x) Mathematica

1 fx)=%¥x*-1 2 f(x)=+- X

3 f(x):ﬁ‘ Xi_l 4 f(X)=+2x+1- Ix+1

5 f(x)=logx? 6 f(x)=2logx

7 f(X)=logx® 8 f(x)=[log(100- x)]*

0o f(x)= 10 f(x)=log x+log( x- 1)

6- X

11 f(x)=log x(x- 1) 12 f(x)=+/cosx

13 f(x) =log cosx 14 f(x)=arccos(3- X).
1.5 y = f(X) Mathematica

@ vy x-1] xI1[0,5] 2 y:x+§ x1 (0, +¥)

3 y=a/x*+1 4 y= ax1+1

5 y:ax+% ab >0 6 y=10"

7 y=log( x> +e) 8 y=1- 2|cosx]|

15



9 y:sinx+sin(x+%) 10  y=sn*x+cos’x

1.6
1 y=[x-1f 2 y=x-[x]
3 y=In(1+X) 4 y=lhax (a=2, - 2)
—aq Y — g P
5 y—3sn2(x+§) 6 y—351n(2x+§).
1.7 1 1 2 1:1 45°
ABCD S h
2 I X
2
3 3 X X
(-¥ <x<+¥) X
y
/‘\ 1
(5 )U C
NP N :C;I
---------------- ~\ 45°
A B X o] 1 x 2 3
« 1 « 2 ¢ 3
1.8
1 y=dgnx| 2 y =x-[X]
3 y=tg|x] 4 y =sec2x

5 y=cosx+dn x 6 y =/X(2- X)

A W DN P

1.9 y=In(Xx+~1+x?) (-¥,+¥)

1.10 f(x) [0,a) (a>0)

[EEY

f(x) (-a,a)

16



1.11

1.12

1.13

1.14

1.15

1.16

1.17

1.18

2

f (x) (-¥,+¥) a

f (x) T (T >0) f(-x)

f(x) a(x) (ab)

1 max( f(x), 9(x) 2. min( f(x), g(x))
(a, b)
(-¥,+¥)
1 (%)
2 (%)
3 (%)
4 f(x)
1 f(x) (ab)
2 f(x) (ab)
3 f(x) (ab)
4 f(x) (ab)

® y=ixx-1) (0<x<+¥):
2 X

2 y:%(ex- €7) (-¥ <x<+¥).

i- Xx-1 X£0,

(=17 oo 909 =

—_— ——
X

2

fFlgCal  alf (x)].

f(x)zm 4f P4 Pla 9 -

17

- X7,

X£O0,
X>0;



1.19

1.20

1.21

1.22

1.23

[E

N

w

N

(S}

[op}

~

o0}

f(x) =1+ x]- |1- x| o P4 9Ly 95)(9) -

f (x) = §n X+ cos+/2x
1.12

R(X)
RC-X)=R(X) RX®=R(x) R
R-X)=-R(X)  RX=xR(X) R

f(x)
f(x)=(x+1)? 2 f(X)=s9n(x+1)
f(x)= 223 4 f)=——  |xK1
X x-1
f(x) =] x- 1 6 f(x)=¢.
f(x)=ax®+bx+c
b b
a>0 f(x) (-¥,-g] [-z,+¥)
b b
a<0 f(x) (-¥,-£] [-£,+¥)
f(x)=x>+x
fg=t X x=0
f(x)=log( x> - 2x) (- ¥,0) (2,+¥)
f(x)=ge—?9; (-¥,00 (O+¥)
e3g
f(x)=3" (-¥,0 (0,+¥)

f(xX)=2x+9n x (- ¥,+¥)

_dn(x+a)
gn X

(0.p) F(x)

18



